AP Precalculus - M3Y & M3Z

Exponentials and Logarithms - Homework 1

1. Solve the following equations:

(i) logg(dx —7) =2 (vi) In(2” — 8) = In(2772 + 4)
ii) In(3z — 12+ ¢€?) =2 (vii) logsx + logyx +logyz =7
(1) In( ) =
(111) 10g2([E _ 4) —4 (Vlll) 3:224+4=36—-13-2%
1
(iv) log(x + 3) —log(2x +8) =0 (ix) =77 = @
(v) logy (22 — 62) = log (18 — 3z) (x) 5771 =
2. Solve the following inequalities:
(i) 5 =15 <10 —4-5" (iv) log(x + 1) > logz + logh
e"—1 1
ii — lo —-2)> -1
(ii) =1 <3 (v) g%(x ) >
(iii) logg(z —12) < 3 (vi) 2logh + xlog3 <log9+ zlogh

3. Find the domain and the inverse of the following functions:
(i) f(z) = log(2z —6)
(ii) g(z) =677

(iii) A(z) =log1 (227" —8)



